



Vendor Ranking

Page 1 of 1

Letting: 02251217 **December 17, 2025 11:00 AM** **Call Order:** 003 **Contract:** E21R0

District: District 2 **Counties:** ALACHUA, DIST/ST-WIDE **Fed Aid No:** N/A

Contract Time: 180 CALENDAR DAYS

Project(s): 41021347281 (*)

Contract Desc: Maintenance sidewalk repairs in Alachua and Bradford Co

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	BURNETT CIVIL CONTRACTING OF FL	Responsive	Winning bid	\$209,325.00	100.00%
2	WRANGLER CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$267,800.50	127.94%
3	YOROCA ENGINEERING CONTRACTORS, LLC	Responsive	Non-Winning Bid	\$304,700.00	145.56%
4	BOONE IMPROVEMENTS, INC.	Responsive	Non-Winning Bid	\$328,250.00	156.81%
5	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$330,425.00	157.85%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



Tabulation of Bids

Page 1 of 5

Letting: 02251217 December 17, 2025 **Call Order:** 003 **Contract:** E21R0**District:** District 2 **Counties:** ALACHUA, DIST/ST-**Fed Aid No:** N/A**Contract Time:** 180 CALENDAR DAYS

WIDE

Project(s): 41021347281 (*)**Contract Descr:** Maintenance sidewalk repairs in Alachua and Bradford Co

The improvements under this work document driven contract consist of removal and replacement of concrete sidewalks, driveways, and sidewalk curb ramps as listed in the bid items within the state maintained right of ways in Alachua County. Mobilization, Maintenance of Traffic and removal of undesirable materials such as tree roots encountered during sidewalk removal will be incidental to the pay items listed.

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) BURNETT CIVIL CONTRACTING OF FL		(2) WRANGLER CONSTRUCTION INC.		(3) YOROCA ENGINEERING CONTRACTORS, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SODDING (SY								
0005 0110 4 10 REMOVAL OF EXISTING CONCRETE		2,250.000 SY	25.000000	56,250.00	16.50000	37,125.00	30.00000	67,500.00
0010 0120 1 REGULAR EXCAVATION		25.000 CY	20.000000	500.00	35.00000	875.00	45.00000	1,125.00
0015 0120 2 2 BORROW EXCAVATION, TRUCK MEASURE		25.000 CY	125.000000	3,125.00	35.00000	875.00	45.00000	1,125.00
0020 0425 5 MANHOLE, ADJUST		1.000 EA	500.000000	500.00	1,365.00000	1,365.00	1,500.00000	1,500.00
0025 0425 6 VALVE BOXES, ADJUST		1.000 EA	500.000000	500.00	1,023.00000	1,023.00	950.00000	950.00
0030 0522 1 CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK		1,750.000 SY	60.000000	105,000.00	95.45000	167,037.50	100.00000	175,000.00
0035 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK		500.000 SY	80.000000	40,000.00	108.00000	54,000.00	110.00000	55,000.00



Tabulation of Bids

Page 2 of 5

Letting: 02251217 December 17, 2025			Call Order: 003		Contract: E21R0			
Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) BURNETT CIVIL CONTRACTING OF FL		(2) WRANGLER CONSTRUCTION INC.		(3) YOROCA ENGINEERING CONTRACTORS, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SODDING (SY								
0040 0527 2 DETECTABLE WARNINGS		50.000 SF	45.00000	2,250.00	35.00000	1,750.00	20.00000	1,000.00
0045 E575 1 6 SODDING, BERMUDA		150.000 SY	8.00000	1,200.00	25.00000	3,750.00	10.00000	1,500.00
0001 SODDING (SY) Section Totals:				\$209,325.00		\$267,800.50		\$304,700.00
Contract Grand Totals:				\$209,325.00		\$267,800.50		\$304,700.00



Tabulation of Bids

Page 3 of 5

Letting: 02251217 **December 17, 2025** **Call Order:** 003 **Contract:** E21R0

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) BOONE IMPROVEMENTS, INC.		(5) ROGAR MANAGEMENT & CONSULTING OF FLORIDA <small>LLC</small>			
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (SODDING (SY								
0005 0110 4 10 REMOVAL OF EXISTING CONCRETE		2,250.000 SY	50.00000	112,500.00	22.00000	49,500.00		
0010 0120 1 REGULAR EXCAVATION		25.000 CY	150.00000	3,750.00	37.00000	925.00		
0015 0120 2 2 BORROW EXCAVATION, TRUCK MEASURE		25.000 CY	200.00000	5,000.00	48.00000	1,200.00		
0020 0425 5 MANHOLE, ADJUST		1.000 EA	1,500.00000	1,500.00	2,850.00000	2,850.00		
0025 0425 6 VALVE BOXES, ADJUST		1.000 EA	1,000.00000	1,000.00	1,500.00000	1,500.00		
0030 0522 1 CONCRETE SIDEWALK AND DRIVEWAYS, 4" THICK		1,750.000 SY	80.00000	140,000.00	117.00000	204,750.00		
0035 0522 2 CONCRETE SIDEWALK AND DRIVEWAYS, 6" THICK		500.000 SY	110.00000	55,000.00	124.00000	62,000.00		
0040 0527 2 DETECTABLE WARNINGS		50.000 SF	100.00000	5,000.00	100.00000	5,000.00		
0045 E575 1 6 SODDING, BERMUDA		150.000 SY	30.00000	4,500.00	18.00000	2,700.00		



Tabulation of Bids

Page 4 of 5

Letting: 02251217 December 17, 2025 Call Order: 003 Contract: E21R0

Line No / Item ID Item Description () indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) BOONE IMPROVEMENTS, INC.	(5) ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	
			Unit Price	Ext Amount	Unit Price

SECTION: 0001 (SODDING (SY

0001 SODDING (SY) Section Totals: \$328,250.00 \$330,425.00

Contract Grand Totals:

\$328,250.00

\$330,425.00



Tabulation of Bids

Page 5 of 5

Letting: 02251217 **December 17, 2025** **Call Order:** 003 **Contract:** E21R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.